Division Practice: Interpreting Remainders




Name:________________________________
	At the Library:  Schoolrocks Middle School has moved to a new building, and they are re-shelving the books in their new library. They have a total of 5,568 books to shelve.

	1) If it took 3 trucks to transport the books, and each truck carried the same number of books, how many books were in each truck?

Solution:________________
	2) Each shelf holds an average of 20 books.  How many shelves are needed?

Solution:__________________
	3) The trophy shelf in the library is 48 inches wide. Each trophy is 5 inches wide. How many trophies will fit on the shelf?
Solution: _________________


	Riding the Roller Coaster: At an amusement park, the roller coaster seats 25 passengers per train.

	4) If 1,172 people are waiting in line, how many trains will it take for all of the people in line to ride the roller coaster? 

Solution:______________
	5) If 610 people are waiting in line, how many trains will it take for all of the people in line to ride the roller coaster? If there is a remainder, explain what the remainder means and how you accounted for the remainder.

Solution:________________ Remainder:_____________

Explain your solution:
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